Sentence Transformations - Complete the second sentence, using the word given, so that it means the same as the first sentence. Use between two or five words including the word given.  Do not change the word given.   N.B. Contracted forms e.g. isn’t = 2 words  
Example: 	My 8-year-old niece can swim very well.
		TO
		My 8-year-old niece ….IS ABLE TO…. swim very well.
These examples are from the grammar in UNIT 3	
1. France succeeded in winning the trophy at the end of a very tough match.
TO
France …………………………………. the trophy at the end of a very tough match.

2. The manager failed to persuade Karen to take the job.
SUCCEED
The manager ………………………………………. Karen to take the job.

3. She didn’t attend the meeting because she was ill.
ABLE
She ……………………………………….. the meeting because she was ill.

4. The children weren’t allowed to play video games late at night.
COULD
The children …………………………………. video games late at night

5. It wasn’t necessary to pay anything as they were the owner’s guests.
HAVE
They ……………………………………. anything because they were the owner’s guests

6. It is forbidden to ride bicycles on the pavement.
MUST
You ……………………………………. bicycles on the pavement.

7. Getting a visa before travelling to some countries is essential.
TO
You ………………………………………………… a visa before travelling to some countries.

Here are some examples from the grammar in UNITS 1 & 2

8. My grandparents live in the same town where they were born.
LIVED
My grandparents ………………………………………. in the same town all their life.

9. I first met Sarah when we started at primary school. 
SINCE
I ……………………………………we started at primary school.

10. She wrote three emails on her journey to work.
ALREADY
By the time she arrived at work she ……………………………… three emails.


ANSWERS
1. France succeeded in winning the trophy at the end of a very tough match.
TO
France MANAGED TO WIN the trophy at the end of a very tough match.

2. The manager failed to persuade Karen to take the job.
SUCCEED
The manager DID NOT SUCCEED IN PERSUADING Karen to take the job.

3. She didn’t attend the meeting because she was ill.
ABLE
She WAS NOT ABLE TO ATTEND the meeting because she was ill.

4. The children weren’t allowed to play video games late at night.
COULD
The children COULD NOT PLAY video games late at night

5. It wasn’t necessary to pay anything as they were the owner’s guests.
HAVE
They DID NOT HAVE/NEED TO PAY anything because they were the owner’s guests.

6. It is forbidden to ride bicycles on the pavement.
MUST
You MUST NOT RIDE bicycles on the pavement.

7. Getting a visa before travelling to some countries is essential.
TO
You HAVE TO GET a visa before travelling to some countries.

8. My grandparents live in the same town where they were born.
LIVED
My grandparents HAVE LIVED in the same town all their life.

9. I first met Sarah when we started at primary school. 
SINCE
I HAVE KNOWN SARAH SINCE we started at primary school.

10. She wrote three emails on her journey to work.
ALREADY
By the time she arrived at work she HAD ALREADY WRITTEN three emails



